

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
FEBRUARY 20, 2024 AGENDA

Subject:	Type:	Submitted By:
AWARD BID – 2024 PAVEMENT REHABILITATION	◆ RESOLUTION ORDINANCE RECEIVE/FILE	PAT DOWSE CITY ENGINEER

SYNOPSIS

A resolution has been prepared to award a contract to Western Engineering Company, Inc, Harlan, Iowa for the 2024 Pavement Rehabilitation project for concrete base repair, curb and gutter replacement, and asphalt mill and overlay of certain streets within the Granville East subdivision in an amount not to exceed \$1,347,918.50.

FISCAL IMPACT

The FY23/FY24 Biennial Budget provides funding for this project.

RECOMMENDATION

Approval.

BACKGROUND

On Friday, February 9, 2024, bids were opened and read aloud for the above-mentioned project. Two (2) bids were received, with the total Base Bid plus bid Alternate #1 and Alternate #2 totals as follows:

Western Engineering Company, Inc. -	\$1,347,918.50
Old Castle Materials Group dba OMNI Engineering -	\$1,414,309.75

Preparation of plans and specifications for this project were completed by Thompson, Dreessen & Dorner (TD2). Both bids were under the Engineer's Estimate, with Western Engineering's coming in 13.0% below the \$1,555,000 estimate.

It is recommended that the base bid, Alternate #1 consisting of base repair, mill and overlay for Lantana Court and Alternate #2 consisting of base repair throughout the project in the amount of \$1,347,918.50 be awarded to Western Engineering Company, Inc.

Work is anticipated to begin in the spring and be completed by the fall of this year.

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA AUTHORIZING THE EXECUTION OF A PROFESSIONAL SERVICES AGREEMENT WITH WESTERN ENGINEERING COMPANY, INC., HARLAN, IOWA FOR THE 2024 PAVEMENT REHABILITATION PROJECT IN AN AMOUNT NOT TO EXCEED \$1,347,918.50.

WHEREAS, the Mayor and City Council have determined that the 2024 Pavement Rehabilitation Project is necessary; and

WHEREAS, the FY23/FY24 Biennial Budget provides funding for this project;

WHEREAS, Subsection (c) of Section 31.23 of the La Vista Municipal Code requires that the City Administrator secure Council approval prior to authorizing any purchase over \$5,000.00.

NOW, THEREFORE BE IT RESOLVED, by the Mayor and City Council of La Vista, Nebraska, that a professional services agreement, in a form satisfactory to the City Administrator and City Attorney, be authorized with Western Engineering Company, Inc. for the 2024 Pavement Rehabilitation Project in an amount not to exceed \$1,347,918.50.

PASSED AND APPROVED THIS 20TH DAY OF FEBRUARY 2024.

CITY OF LA VISTA

ATTEST:

Douglas Kindig, Mayor

Pamela A. Buethe, MMC
City Clerk

<p>SUBMITTED PROPOSALS & COSTS Date of Bid: Feb. 9th, 2024 Client: City of La Vista Project: La Vista Mill and Overlay TD2 File No: 171-425 Engineers Estimate: \$1,555,000 Bond: 5% of Bid</p>		 <p>Thompson, Dreessen & Dorner, Inc.</p>		<p>Bidder Western Engineering Company 1149 Hwy 44, PO Box 350 Harlan, IA 51537 P: 712-755-5191 F: 712-755-3292 Chad.Lyon@westerngco.com</p>		<p>Bidder Oldcastle Materials Midwest Co. DBA OMNI Engineering 14012 Giles Road Omaha, NE 68138 P: 402-895-6666 F: 402-895-3697 gary.kinloch@omni-engineering.com</p>	
ITEM	DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	Mobilization/Demobilization	1	L.S.	\$135,000.00	\$135,000.00	\$66,197.00	\$66,197.00
2	Traffic Control	1	L.S.	\$5,800.00	\$5,800.00	\$5,278.00	\$5,278.00
3	Remove Combination Curb and Gutter	3,850	L.F.	\$15.50	\$59,675.00	\$16.20	\$62,370.00
4	Perform 2" Cold Planing - Asphalt (105.003) or Concrete (105.013)	31,975	S.Y.	\$2.90	\$92,727.50	\$4.75	\$151,881.25
5	Remove and Replace Curb Inlet Top - Type I/II/III	12	EA.	\$2,650.00	\$31,800.00	\$2,802.00	\$33,624.00
6	Remove and Replace Curb Inlet Top - Irregular	8	EA.	\$3,550.00	\$28,400.00	\$3,772.00	\$30,176.00
7	Remove Driveway Pavement	180	S.Y.	\$13.50	\$2,430.00	\$14.00	\$2,520.00
8	Remove Sidewalk Pavement	6,900	S.F.	\$2.05	\$14,145.00	\$2.15	\$14,835.00
9	Construct 2" Asphalt Surface Course, Type SPR (PG64-34)	3,600	TONS	\$115.50	\$415,800.00	\$126.00	\$453,600.00
10	Construct 5" PCC Sidewalk	6,005	S.F.	\$6.15	\$36,930.75	\$6.45	\$38,732.25
11	Construct PCC Curb Ramp	1,820	S.F.	\$16.40	\$29,848.00	\$17.20	\$31,304.00
12	Construct Detectable Warning Panel	530	S.F.	\$30.50	\$16,165.00	\$32.30	\$17,119.00
13	Construct 5" PCC Stamped Pavement	945	S.F.	\$6.25	\$5,906.25	\$6.45	\$6,095.25
14	Construct 6" Concrete Driveway (Type L65)	180	S.Y.	\$64.50	\$11,610.00	\$67.90	\$12,222.00
15	Construct 10" Combination Curb and Gutter	3,850	L.F.	\$41.00	\$157,850.00	\$43.10	\$165,935.00
16	Install Curb Inlet Protection	34	EA.	\$26.00	\$884.00	\$206.00	\$7,004.00
17	Maintain Curb Inlet Protection	34	EA.	\$26.00	\$884.00	\$79.20	\$2,692.80
18	Remove Curb Inlet Protection	34	EA.	\$26.00	\$884.00	\$52.80	\$1,795.20
19	Install Sodding	900	S.Y.	\$8.20	\$7,380.00	\$8.60	\$7,740.00
20	Permanent Paint Marking - 4" White	350	L.F.	\$1.05	\$367.50	\$1.05	\$367.50
21	Permanent Paint Marking - 4" Yellow	700	L.F.	\$1.05	\$735.00	\$1.05	\$735.00
22	Permanent Paint Marking - 24" White	375	L.F.	\$6.50	\$2,437.50	\$6.55	\$2,456.25
23	Furnish and Install Traffic Posts and Signs	5	EA.	\$360.00	\$1,800.00	\$370.00	\$1,850.00
24	Remove and Re-install Sign	15	EA.	\$190.00	\$2,850.00	\$195.00	\$2,925.00
	TOTAL BASE BID				\$1,062,309.50		\$1,119,454.50

<p>SUBMITTED PROPOSALS & COSTS Date of Bid: Feb. 9th, 2024 Client: City of La Vista Project: La Vista Mill and Overlay TD2 File No: 171-425 Engineers Estimate: \$1,555,000 Bond: 5% of Bid</p>		 <p>Thompson, Dreessen & Dorner, Inc.</p>		<p>Bidder Western Engineering Company 1149 Hwy 44, PO Box 350 Harlan, IA 51537 P: 712-755-5191 F: 712-755-3292 Chad.Lyon@westerngco.com</p>		<p>Bidder Oldcastle Materials Midwest Co. DBA OMNI Engineering 14012 Giles Road Omaha, NE 68138 P: 402-895-6666 F: 402-895-3697 gary.kinloch@omni-engineering.com</p>	
ITEM	DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	ALTERNATE BID #1 (LANTANA COURT)						
25	Remove Combination Curb and Gutter	70	L.F.	\$31.00	\$2,170.00	\$32.30	\$2,261.00
26	Perform 2" Cold Planing - Asphalt	830	S.Y.	\$5.25	\$4,357.50	\$5.75	\$4,772.50
27	Remove Sidewalk Pavement	65	S.F.	\$2.10	\$136.50	\$2.15	\$139.75
28	Construct 2" Asphalt Surface Course, Type SPR (PG64-34)	95	TONS	\$125.00	\$11,875.00	\$128.00	\$12,160.00
29	Construct 5" PCC Sidewalk	30	S.F.	\$6.30	\$189.00	\$6.45	\$193.50
30	Construct 10" Combination Curb and Gutter	70	L.F.	\$42.00	\$2,940.00	\$43.10	\$3,017.00
31	Subgrade Preparation	325	S.Y.	\$2.60	\$845.00	\$2.70	\$877.50
32	Remove and Construct 9" Concrete Base (Type L85), with Integral Curb	325	S.Y.	\$88.00	\$28,600.00	\$91.60	\$29,770.00
	ALTERNATE BID #1 TOTAL				\$51,113.00		\$53,191.25
	ALTERNATE BID #2						
33	Subgrade Preparation	2,560	S.Y.	\$2.60	\$6,656.00	\$2.80	\$7,168.00
34	Remove and Construct 9" Concrete Base (Type L85), with Integral Curb	2,560	S.Y.	\$89.00	\$227,840.00	\$91.60	\$234,496.00
	ALTERNATE BID #2 TOTAL				\$234,496.00		\$241,664.00
	TOTAL BID W/ ALTERNATES				\$1,347,918.50		\$1,414,309.75